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void play () {
soundPlayer.playSound (title) ;

Song tZ2 = new Song();
t2.setArtist (“"Travis”) ;
t2.setTitle (“Sing”) ;

Song s3 = new Song();
s3.setArtist ("Sex Pistols”);
s3.setTitle (“My Way”);

tZ2.play();

song

song



class Dog {

int size;
String name;

Dog

void bark() {
if (size > 60) {
System.out.println ("Woof! Woof!");

Size
name

} else if (size > 14) {
System.out.println("Ruff! Ruff!");

bark()

} else {
System.out.println("Yip! Yip!");
}

class DogTestDrive {

public static void main (String[] args) {

Dog one = new Dog();
one.size = 70;

Dog two = new Dog();
two.size = 8;

Dog three = new Dog();
three.size = 35;

one.bark () ;
two.bark () ;
three.bark();

@ Bark Different.
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void bark(int numOfBarks) {
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int giveSecret ()

void go ()

return 42;
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int theSecret = life.giveSecret();

int giveSecret () {
return 42;



5 71 0]&2| OjIHH=~

o B0l &= Ol QINIE HESE =
UASLICH
» 2L 0IXtE A HE RS
» HIACSO OHOHR SO AS M BIEAI 2IXLE
Moo StCh= |22 0iNol REE LI



5 71 0]&2| OjIHH=~

void go () {
| int foo = 7;
void go () { int bar = 3;

TestStuff t = new TestStufg

QixeTwo (foo, bar) ;
t.takeTwo (12, 34); )

void takeTwo (int x, 1int vy) {
int z = x + y;
System.out.println (“Total is ” + z);
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void go(int z) { }
int x = 7;
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foo.go (x);
int

void go(int z) { }
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class ElectricGuitar {
String brand;
int numOfPickups;
boolean rockStarUsesIt;

int getNumOfPickups () {

String getBrand() { .
return numOfPickups;

return brand;

void setNumOfPickups (int num) {
void setBrand(String aBrand) { numOfPickups = num;

brand = aBrand; }

boolean getRockStarUsesIt () {
return rockStarUsesIt;

void setRockStarUsesIt (boolean
yesOrNo) {

rockStarUsesIt = yseOrNo;
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GoodDog

class GoodDog ({ size
private int size; getSize()
setSize()

public int getSize() {
return size;

Bark()

}

public void setSize(int s) {
size = s;

}

void bark () {
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pets[0] = new Dog();
pets[1] = new Dog();

3. Dog Z2A 5+ 7l ts] HAE 3=

.setSize (30);
pets[0] .getSize();
.setSize (8);
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= int size;
= String name;
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= int size = 420;
= String name = “Donny”’;




class PoorDog 1
private int size;
private String name;

}

public int getSize() {
return size;

}

public String getName() {
return name;

} public class PoorDogTestDrive {

}

public static void main(String[] args) {
PoorDog one = new PoorDog();
System.out.printin(“Dog size is “ + one.getSize());
System.out.printin(“Dog name is “ + one.getName());

J 114 o] o] Q1 A2 A7 WA ABA.



O 2fL|Ct.

Ui
S
(O]

TR - =
— w
wo
100
I_I_n_ -
= N3
+ W
5 R
< il <F <|
w _am < a "

OF 2 =]
< i K0 DF DF 0
0. _J_u m m m _I-_IH




= fX
ABIA B2 - 2A LHOIA
B - HAE LHOIA
class Horse {
gi} private double height
private String breed;
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class AddThing {
class Foo {
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int F®o=a3= new Fool();
byt&de » F; new Fool();
if feo=€ p)agy // & }

if (a ==Db) { // AX }
if (a==2¢c) { // & }
if (b ==c¢) { // AX 3




int calcArea(int height, int width) {
return height * width;

int a = calcArea (7, 12);
short ¢ = 7;

calcArea(c, 15);

int d = calcArea(57);
calcArea(2,3);
long t = 42;

int £ = calcArea(t, 17);
int g = calcAreal()

14

calcArea();
byte h = calcArea (4, 20);
int j = calcArea(2, 3, 5);



